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Is the Selection of the Active Port Based on the Physical Port or the Subscri
ber Port During Link Aggregation of the S9500 Series

Each visible port corresponds to a physical port on the PP, as illustrated in the followi
ng figure:

Upon link aggregation, choice of the active port is based on the subscriber port. If yo
u use the command link-aggregation Ethernet 4/1/1 to Ethernet 4/1/5 both to cond
uct port aggregation, the active port is Ethernet 4/1/1 whose port No. is the smallest.
While sending packets outbound, select the port with the smallest physical port numb
er. As the physical ports and the logical ports are not numbered in the same order, th
e port to send the packets may not be the primary port.
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